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Erratum

정오표

제목: 붉은대게(Chinonoecetes japonicus) 자원평가를 위한 잉여생산량모델의 비교 분석 

저자: 최지훈·김도훈*·오택윤·서영일·강희중
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2 ;I =̅ 1 =∑y Iy∑y (Iy-I  ̅)2 n

Iy|Py, q, τ2=qKPy evy 

53(6), 928; 
식(14)

L (data≀B0, r, K, q)=∏y
1 e

-(lnIy-lnI ŷ )2
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2 ;I =̅ 1 =∑y Iy∑y (Iy-I  ̅)2 n

RMSE= 1
n ∑

y
 (Iy-Iy ̂ )

2

53(6), 929; 
식(18)

L (data≀B0, r, K, q)=∏y
1 e

-(lnIy-lnI ŷ )2
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